AEw7=5E3



A& ol

0258 E 20Id A=s50IISSES

&EAHE B Al A

D200 MSl4e
2 200 AAFAIQISY
5 216 0IX4-9) (el e
F.z-g-2 o & o 0l Ar HmE2
=] 501,918 330,580 171,338
200 Hl2I%el 3,500 3,400 100
210 BAFAII+L 500 400 100
216 Ol X4+ 500 400 100
216-01 2SS0 X+ 500 400 100
<EXFBD > 500 400 100
OZB02 OIXt+e 50,0002 14! 500
220 LAIE A2l 4e 3,000 3,000 0
224 J| Bt 3,000 3,000 0
224-07 19/ 4} 3,000 3,000 0
<EXFHD > 3,000 3,000 0
LIRS 1,000,008 * 14! 1,000
oRgoIS2 2,000,0008 14! 2,000
50 2EZ 153,880 116,440 37,440
510 2NREZS 126,400 95,200 31,200
511 2N2x3S 126,400 95,200 31,200
511-01 2DEEZ 126,400 95,200 31,200
<EXFBD > 126,400 95,200 31,200
CEEEIVR-EEL] 4,000,0008!*14! 4,000
02Ut HjUEET DY X 64,000,000 14! 64,000
o=ol 2g &332 1,600,008 % 14! 1,600
o=ol =g HAZ 1,600,008 14! 1,600
OAAMERIL] 33,600,0008!%14] 33,600
Ot ZS0IALY 21,600,008 » 14! 21,600
520 Al - EHIZEZS 27,480 21,240 6.240
521 Al - SHIR X3S 27,480 21,240 6.240
521-01 Al - SHIR2 XSS 27,480 21,240 6,240
<EXFHD > 27,480 21,240 6,240
CEEEIVE-TEL] 3,000,002 14! 3,000
oRUHl ¥ HEED Y XY
12,800,0008! %14} 12,800
o= 2g &332 320,008 % 14! 320
o=ol 2g 2az 320,008 *14! 320
CEERIETEINE 6,720,000 14| 6,720
O ES0IALY 4,320,002 14! 4,320
700 2 R4S U2 344,538 210,740 133,798
720 L0124 344,533 210,740 133,798
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T 700 BESLSLU RN
2720 LIS HeH
g 721 Mol3 (SH2: &)
@82 o & o rS[ELA LT IR
721 HYZ 344,538 210,740 33,798
721-08 JIEtSI A H Y2 34,538 210,740 33,798
<EXNFHD > 344,538 210,740 33,798
CEETOP ST 344,538, 00024 % 14! 344,538
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H & 0l & At H Al A
20258 204t ASSHIISELESIA &
SH: =XRHY
A 20| )| ZME PH
el HASE QRXIA(ARS0II2SEs) (crof:mel)
SA - B O9i(8) - HRAR - BaS Ol & e HlmS2t
SXE 0 501,918 330,580 171,338
= 126,400
= 27,480
i 348,038
=0 J|=dE BY 501,918 330,580 171,338
= 126,400
& 27,480
i 348,038
HASEE A2 XA(=230II25E3H) 501,918 330,580 171,338
= 126,400
< 27,480
=z 348,038
2220 SHHBHI 10,000 10,000 0
= 4,000
& 3,000
o 3,000
201 et 3| 3,000 3,000 0
= 1,200
& 900
o 900
01 AtR2tel| 3,000 3,000 0
O22=0 #EZAHI 3,000,000 *14] 3,000
= 1,200
< 900
i 900
202 Odt| 7,000 7,000 0
= 2,800
= 2,100
= 2,100
01 3LHO I 7,000 7,000 0
02220 gRFd
100,000& *102]+7H 7,000
= 2,800
& 2,100
o 2,100
220 XXISH BaEX 153,000 114,000 39,000
= 122,400
& 24,480
i 6,120
307 Q120 153,000 114,000 39,000
= 122,400
& 24,480
T_f 6,120
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2N

SAE 1L

Bu: 20| )| ZME PH
el HASE RN (ABRS0IIZSLSH) (cig)mel)
SA - B CORI(SH) - HSAY - BaS 04 b e HImE2
01 22 & 3=h| 153,000 114,000 39,000
02t U HHALHT 7Y X
800,000 100X 80,000
= 64,000
& 12,800
= 3,200
o=¢0l fE =23 40,0003 509 2,000
= 1,600
= 320
i 80
o=0 fE 2az 40,0003 509 2,000
= 1,600
& 320
o 80
OHUMER I 84,0003 500 42,000
= 33,600
& 6,720
o 1,680
OMIY S S A 2,700,000& =10 27,000
= 21,600
& 4,320
= 1,080
Q220U (HE2) (2T XA 333,918 206,580 132,338
308 ALXISHMSO0IH 333,918 206,580 132,338
07 X EHZ2tRES 338,918 206,580 132,338
O&IZH| KE= 336,675,000 1 336,675
OH2ZMERXYl Gz
2,238,000 14 2,238
OYrIELtRIZH| OIEZ
5,000 14 5
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